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Scoring Guide for Junior Mathematics Open-Response
Question 7

Descriptor

Blank: nothing written or drawn in response to the question

lllegible: cannot be read; completely crossed out/erased; not written in English
Irrelevant content: does not attempt assigned question (e.g., comment on the task, drawings, “?”,
“I”, “l don’t know”)

e  Off topic: no relationship of written work to the question

Application of knowledge and skills to sketch a top, a front and a side view of Sydney’s figure shows
limited effectiveness due to

e  misunderstanding of concepts
e incorrect selection or misuse of procedures

Application of knowledge and skills to sketch a top, a front and a side view of Sydney’s figure shows
some effectiveness due to

e partial understanding of the concepts
e errors and/or omissions in the application of the procedures

Application of knowledge and skills to sketch a top, a front and a side view of Sydney’s figure shows
considerable effectiveness due to

e an understanding of most of the concepts
e minor errors and/or omissions in the application of the procedures

Application of knowledge and skills to sketch a top, a front and a side view of Sydney'’s figure shows a
high degree of effectiveness due to

e athorough understanding of the concepts

e an accurate application of the procedures (any minor errors and/or omissions do not detract from
the demonstration of a thorough understanding)




Scoring Guide for Junior Mathematics Open-Response

Question 7

Code
10

Sydney makes the figure below with 6 linking cubes.

Top

\

Side

Front

Draw a top, a front and a side view of Sydney’s figure on the grid below.

Top View Front View Side View

Annotation:
Student demonstrates a misunderstanding of concepts; all three views are incorrectly
represented.
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Question 7

Code
20

Sydney makes the figure below with 6 linking cubes.

Top

Side
Front

Draw a top, a front and a side view of Sydney’s figure on the grid below.

Top View Front View Side View
- | —

|
i i i

Annotation:

Student demonstrates a partial understanding of the concepts; accurately represents the side

view of the figure but the top view has a misplaced face and the front view contains a
disconnected face.
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Question 7

Code
30

Sydney makes the figure below with 6 linking cubes.

Top

Side
Front

Draw a top, a front and a side view of Sydney’s figure on the grid below.

Top View Front View Side View

- =ESRF=ES

Annotation:
Student demonstrates an understanding of most of the concepts; accurately represents top and
front views but the side view has single upper face on the wrong end.
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Question 7

Code
40

Sydney makes the figure below with 6 linking cubes.

Top

L~

Side

Front

Draw a top, a front and a side view of Sydney’s figure on the grid below.

Top View Front View Side View
T F,,./"",-‘
w
F;:;r; P g -
g
Y
. e
Annotation:

Student demonstrates a thorough understanding of the concepts; accurately represents the
figure with top, front and side views.



Scoring Guide for Junior Mathematics Open-Response
Question 8

Descriptor

e  Blank: nothing written or drawn in response to the question

e lllegible: cannot be read; completely crossed out/erased; not written in English

e Irrelevant content: does not attempt assigned question (e.g., comment on the task, drawings, “?”,
“I"“l don’t know")

e  Off topic: no relationship of written work to the question

Application of knowledge and skills to compare fractions by determining which fractions represent equal
values shows limited effectiveness due to

e misunderstanding of concepts
e incorrect selection or misuse of procedures

Application of knowledge and skills to compare fractions by determining which fractions represent equal
values shows some effectiveness due to

e partial understanding of the concepts
e errors and/or omissions in the application of the procedures

Application of knowledge and skills to compare fractions by determining which fractions represent equal
values shows considerable effectiveness due to

e an understanding of most of the concepts
e minor errors and/or omissions in the application of the procedures

Application of knowledge and skills to compare fractions by determining which fractions represent equal
values shows a high degree of effectiveness due to

e athorough understanding of the concepts

e an accurate application of the procedures (any minor errors and/or omissions do not detract from
the demonstration of a thorough understanding)
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Question 8
Code
10
Consider the fractions shown below.
3 18 15 75
4’ 25" 20° 100

Which fractions represent equal values?

Justify your answer. H?J‘ﬁa. oc e Hadhons  are %uaj 1},6 afl
hae &3 leex, | \ef% T jeftand 5 Jeft

What | Aid  waS make Spams @1d ot B o

.;0% and et wonled SJLM, my answes,

Annotation:
Student demonstrates a misunderstanding of concepts; comparisons are not made using a
common form or denominator; conclusion is incorrect.
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Question 8

Code
20

Consider the fractions shown below.
3 18 15 75
47 25" 20 100
Which fractions represent equal values?

Justify your answer.

Only fhe  fachion % and % replesent %ul

valnes

ha

o

S 15
T 2

Annotation:

Student demonstrates partial understanding of the concepts; determines through multiplication

that 3/4 and 15/20 are equal values; does not determine that 75/100 is also an equal value and
does not consider 18/25.
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Question 8

Code
30

Consider the fractions shown below.
3 18 15 15
4’ 257 20° 100
Which fractions represent equal values?

Justify ygur answer.
X £
g &I
Ts510 -

e 4 vof Lnjees  hel®eSe you
: ts Fe e~y 29/ £ |
Cz}:xhhl‘;ff’i i !;‘(eif\ﬂ %?ﬂt . i Jesch )

Annotation:
Student demonstrates understanding of most of the concepts; uses multiplication to prove
equivalency of three of the fractions; does not consider 18/25.
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Question 8

Consider the fractions shown below.
3 18 15 75

4" 257 20’ 100
Which fractions represent equal values?

Justify your answer.

Annotation:
Student demonstrates a thorough understanding of the concepts; expresses each fraction out
of 100 to compare the fractional amounts including 18/25.



Scoring Guide for Junior Mathematics Open-Response
Question 9

Descriptor

Blank: nothing written or drawn in response to the question

lllegible: cannot be read; completely crossed out/erased; not written in English

Irrelevant content: does not attempt assigned question (e.g., comment on the task, drawings, “?”,
“I",“l don't know")

Off topic: no relationship of written work to the question

Problem-solving process to demonstrate an understanding of mean by determining Todd’s missing test
scores shows limited effectiveness due to

e minimal evidence of a solution process

e limited identification of important elements of the problem

e too much emphasis on unimportant elements of the problem
e no conclusions presented

e conclusion presented without supporting evidence

Problem-solving process to demonstrate an understanding of mean by determining Todd’s missing test
scores shows some effectiveness due to

e anincomplete solution process

e identification of some of the important elements of the problem

e some understanding of the relationships between important elements of the problem
e simple conclusions with little supporting evidence

Problem-solving process to demonstrate an understanding of mean by determining Todd’s missing test
scores shows considerable effectiveness due to

e asolution process that is nearly complete

e identification of most of the important elements of the problem

e aconsiderable understanding of the relationships between important elements of the problem
e  appropriate conclusions with supporting evidence

Problem-solving process to demonstrate an understanding of mean by determining Todd’s missing test
scores shows a high degree of effectiveness due to

e a complete solution process
identification of all important elements of the problem
a thorough understanding of the relationships between all of the important elements of the problem
appropriate conclusions with thorough and insightful supporting evidence
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Question 9

Code
10

Fric and Todd take 4 science tests. The table below shows Eric’s 4 scores and 2 of Todd’s scores.

Science Test Scores
Test 4 | Mean test
Student | Test1 | Test2 | Test3d | Tes score
Eric 86 79 85 82 43
Todd | ©> | 8 | 7{| 8 | €7

Todd’s mean for the four tests is five points higher than Eric’s. Complete the table above by entering
Todd’s mean test score and possible scores for his Test 1 and Test 3.

Justify your answers.

oc fesw 1 todol get &3
T&ﬁ“' 176
. %?

Annotation:

Student demonstrates minimal evidence of a solution process; reports an accurate mean for

Eric with no justification; Todd’s mean is not 5 points higher and choice of test scores do not
support this mean.
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Question 9

Code
20

Eric and Todd take 4 science tests. The table below shows Eric's 4 scores and 2 of Todd's scores.

Science Test Scores

Mean test

Student | Test1 | Test2 | Test3 | Testd ——"

Eric 86 | 79 | 85 | 82 | 4D
dd | AV | 85 | AU | 89 | B

Todd’s mean for the four tests is five points higher than Eric’s. Complete the table above by entering
Todd’s mean test score and possible scores for his Test 1 and Test 3.

Justify your answers. Do Crak __E-""-{lﬂi"f_: ey v S
herer  von A Ve TR VoA oes P

N )
Y = i T AT e ey o NG T, led
ﬁ{.,_,'-.._.)\i - 0 wit s - ho 'r'-t_l_l'q[ LTL'U Li A ‘_ q_}... va ]

{1
y

4 -
- LA .
R ALY ke y ’.“:.\:’:'-.;"I.;"a ettt =cove Uroun ol .

S "
A oot B ovd Ere v O S.

) ot

&)

Annotation:

Student demonstrates an incomplete solution process; correctly determines the mean for Eric
and uses it to determine Todd’s mean score; inaccurate explanation of how they determined
Todd’s missing scores (adds 5 to Eric’s test scores to arrive at Todd’s scores for Test 1 and

Test 3).
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Question 9

Code
30

Eric and Todd take 4 science tests. The table below shows Eric’s 4 scores and 2 of Todd’s scores.

Sclence Test Scores
|

Mean test
score

Test 1
Eric 86 | 79 | 8 | 82 | ()2
g

Todd Ll e [ do] 8 [ g9

L

Student Test2 | Test3 | Testd

Todd’s mean for the four tests is five points higher than Eric’s. Complete the table above by entering
Todd’s mean test score and possible scores for his Test 1 and Test 3.

Justify your answers,

11495 0+ = I Au=949,77,
§ Uf\tl,-tﬂa 1;~:r - k-"‘h’)b&.‘f%% '—C}ﬂn

Annotation:

Student shows considerable effectiveness by identifying most of the important elements of the

problem; accurately determines Eric’'s mean but adds 5 to Eric’s Test 1 and Test 3 scores and
accurately calculates Todd’s mean based on these.



Scoring Guide for Junior Mathematics Open-Response

Question 9

Code
40

Eric and Todd take 4 science tests. The table below shows Eric’s 4 scores and 2 of Todd's scores.

Science Test Scores
] 1
Mean test
Student | Test1 | Test2 | Test3 | Test4 score
Eric 86 79 85 82 J%5
Tood | HO | e | g | e | 8%

Todd’s mean for the four tests is five points higher than Eric's. Complete the table above by entering
Todds mean test score and possible scores for his Test 1 and Test 3.

Justify your answers, -
Erie L’“" 208 45-44-%5=8].
o TS 82- 330, O3 gl gnamegq e YT z ?525:15
3‘1}-"&- A 3% QD+ €5t 8Y +gq:jb§3:§.‘f* ‘
s GO + g5+ BB GG BEANTEE
| *Todd agk G0 on b
Cinet Fykamd &9
on N6 thied test
Annotation:

Student demonstrates a complete solution process; student accurately calculates the mean for
Eric, uses it to find the mean for Todd and then solves for the two missing test scores (which
total 178) using guess and check. Note: 332+5-89-85=81 seems to be an experiment to start

the process.
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Question 10

I Code Descriptor I

Blank: nothing written or drawn in response to the question

lllegible: cannot be read; completely crossed out/erased; not written in English

Irrelevant content: does not attempt assigned question (e.g., comment on the task, drawings, “?”,
“1" “l don’t know")

Off topic: no relationship of written work to the question

Problem-solving process to determine the area of the unshaded part of the rectangle shows limited
effectiveness due to

e minimal evidence of a solution process

e limited identification of important elements of the problem

e too much emphasis on unimportant elements of the problem
e no conclusions presented

e conclusion presented without supporting evidence

Problem-solving process to determine the area of the unshaded part of the rectangle shows some
effectiveness due to

e anincomplete solution process

e identification of some of the important elements of the problem

e some understanding of the relationships between important elements of the problem
e simple conclusions with little supporting evidence

Problem-solving process to determine the area of the unshaded part of the rectangle shows considerable
effectiveness due to

e asolution process that is nearly complete

e identification of most of the important elements of the problem

e aconsiderable understanding of the relationships between important elements of the problem
e  appropriate conclusions with supporting evidence

Problem-solving process to determine the area of the unshaded part of the rectangle shows a high
degree of effectiveness due to

a complete solution process

identification of all important elements of the problem

a thorough understanding of the relationships between all of the important elements of the problem
appropriate conclusions with thorough and insightful supporting evidence
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Question 10

Code
10

Determine the area of the unshaded part of the rectangle below. Use a ruler.

=ﬁff¥ﬂﬁ,§;fewj: e

W™ wit

L
Justify your answer. w

2L
The area of the unshaded part of the rectangle is '( \(,m .

Annotation:

Student shows limited effectiveness by placing too much emphasis on unimportant elements of

the problem; accurately measures side lengths of unshaded shape and then inappropriately
multiples to determine area.
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Question 10
Code
20
Determine the area of the unshaded part of the rectangle below. Use a ruler.

BT

- aot th® . =&
Justify your answer. el &1 1+ s - nd
T Fhink +hetshad ed part 15 5CH
| P T 1 Tl 2
T fhink thybecawse whin Lywese 4

the hrue_hght - way |im and Fhe lergbh I
6cm so T Al g-lbx):2 )
(X 6) -2 Sothepe “2r

.

3em? Part /' 5 3ep3

The area of the unshaded part of the rectangle is 5 | ﬂll;

Annotation:

Student provides an incomplete solution process; measures height and base of shaded triangle
accurately and calculates area, but does not calculate the area of the larger unshaded
rectangle or subtract the area of the shaded triangle.
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Question 10

Code
30

Determine the area of the unshaded part of the rectangle below. Use a ruler.

Justify your answer. ) }mée_(l }-'\{’31—:_ QKH _ ,2”(1:6
= Co o yo _ 6 L{—/— - ,f g
wnshoded Areo\- IxW=ox1To— L

[ Qg
The area of the unshaded part of the rectangle is r'_&- fv et s Q’\

Annotation:

Student demonstrates a considerable understanding of the relationships between important
elements of the problem; measures required lengths accurately; calculates area of the triangle

but does not divide by 2; subtracts this from the area of the rectangle to determine the shaded
area.
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Question 10
Code
40
Determine the area of the unshaded part of the rectangle below. Use a ruler.
im0 :-_‘-‘-;_,.._ i i
4},-/1'\; S :
&
| ocm
Justify your answer.
Af C = - -
mxbem= ) e 24em

kMJféUﬂ'éﬁm7;77ﬂ5uﬁ;_ ‘30&

2 lem
Fiest T calewloded the area .::4 +‘u
Lhole rectorgle Hreen Lbjf:{ujfg,mj +Iﬁ ,ﬁc roledd
. e TH +
e ot e cpprager- "

The area of the unshaded part of'the rectanglr: i5

Annotation:

Student demonstrates a complete solution process; required lengths are measured accurately
(3 cm diagonal side should be 3.2 cm but this measurement is not used in area calculation);

area of the shaded triangle is correctly calculated and subtracted from the area of the large
rectangle.
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Question 26

Descriptor
Blank: nothing written or drawn in response to the question
lllegible: cannot be read; completely crossed out/erased; not written in English
Irrelevant content: does not attempt assigned question (e.g., comment on the task, drawings, “?”,
“I", “l don’t know")
o  Off topic: no relationship of written work to the question

Problem-solving process to use a table of values to determine the day when Anne will place 1024
pennies in her jar shows limited effectiveness due to

e minimal evidence of a solution process

e limited identification of important elements of the problem

e too much emphasis on unimportant elements of the problem
e no conclusions presented

e conclusion presented without supporting evidence

Problem-solving process to use a table of values to determine the day when Anne will place 1024
pennies in her jar shows some effectiveness due to

e anincomplete solution process

e identification of some of the important elements of the problem

e some understanding of the relationships between important elements of the problem
e simple conclusions with little supporting evidence

Problem-solving process to use a table of values to determine the day when Anne will place 1024
pennies in her jar shows considerable effectiveness due to

e asolution process that is nearly complete

e identification of most of the important elements of the problem

e aconsiderable understanding of the relationships between important elements of the problem
e  appropriate conclusions with supporting evidence

Problem-solving process to use a table of values to determine the day when Anne will place 1024
pennies in her jar shows a high degree of effectiveness due to

e a complete solution process
identification of all important elements of the problem
a thorough understanding of the relationships between all of the important elements of the problem
appropriate conclusions with thorough and insightful supporting evidence
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Question 26

Code
10

The table below shows the number of pennies Anne places in a jar each day.
The pattern continues. Complete the table for Days 5 and 6.

Anne's Jar
Day Number of pennies
placed In the jar

1 1
2 2
3 4
4 8
5

5

On what day will Anne place 1024 pennies in her jar?

dre will poce the 1024w penny in
het ja™ on the S124n doy -T know
becaLse each fJUMb@ 1N +he

J—JQH’\ IS nmoul 11 0lin n‘&el-c b
o 5I12x2 =1024 lfer‘;g\reﬂ: / h

Anne will place 1024 pennies in her jar on Dayﬂg_.

Annotation:

Student demonstrates minimal evidence of a solution process; does not complete the pattern in
the table and shows little evidence of understanding the pattern; pattern rule is inaccurate and
leads to incorrect conclusion of Day 512.
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Question 26

Code
20

The table below shows the number of pennies Anne places in a jar each day.

The pattern continues. Complete the table for Days 5 and 6.

Anne's Jar
by Number of pennies
placed in the jar
1 1
2 2
3 T a
4 8 |
5 16
6 i

On what day will Anne place 1024 pennies in her jar?

Justify your answer.

She sitt piac€ 102Y pennis 1n

her ;

/Qr Qn Joy 31 bCeQu. ge
Ak
Y32
16 &

Anne will place TUZ¥ pennies in her jar on Day 3L,

Annotation:
Student demonstrates some understanding of the relationships between important elements of

the problem; accurately completes the pattern in the table; incorrectly identifies the pattern rule,
therefore being unable to extend the pattern; student arrives at an incorrect conclusion.
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Question 26

Code
30

The table below shows the number of pennies Anne places in a jar each day.
The pattern continues. Complete the table for Days 5 and 6.

Anna's Jar

Day Humber of pernies

placed In the jar
V1 %7
V2 2917
\ 3 4 2
L4 8 )
' 5 lokl
6 (E:E

On what day will Anne place 1024 pennies in her jar?

Justify your answer.

rwex previousH by 2 " dow 6
024 +2:52% " M2 {2

ouX N 31 on

S350 PN
256 7 - 28 ﬁ:m"i‘:r mkmydg

12827 - H v
oo

Anne will place 1024 pennies in her jar on Day 10

Annotation:

Student demonstrates a solution process that is nearly complete; accurately completes the
pattern in the table and extends the pattern through the division process; minor error in
calculating the number of days (not counting the last day) leads to an incorrect conclusion.
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Question 26

Code
40

The table below shows the number of pennies Anne places in a jar each day.

The pattern continues. Complete the table for Days 5 and 6.

Anne's Jar

" | Number of pennies |
. placed in the jar
1
2
4

8
&

34

Day

h | | & |03 | M| =

Om what day will Anne place 1024 pennies in her jar?

Justify your answer.

Day s Pevinies:

7 64
3 Y
9 256
10 51
/ | 6324

Anne will place 1024 pennies in her jar on Day | L :

Annotation:

Student demonstrates a thorough understanding of the relationships between all of the
important elements of the problem; accurately completes the pattern in the table and is able to
use the pattern to extend the number of pennies to the 1024 and arrive at Day 11.
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Question 27

Descriptor
Blank: nothing written or drawn in response to the question
lllegible: cannot be read; completely crossed out/erased; not written in English
Irrelevant content: does not attempt assigned question (e.g., comment on the task, drawings, “?”,
“I" “l don’t know")
e  Off topic: no relationship of written work to the question

Problem-solving process to predict the frequency of selecting a card with a vowel in 500 selections
shows limited effectiveness due to

e minimal evidence of a solution process

e limited identification of important elements of the problem

e too much emphasis on unimportant elements of the problem
e no conclusions presented

e conclusion presented without supporting evidence

Problem-solving process to predict the frequency of selecting a card with a vowel in 500 selections
shows some effectiveness due to

e anincomplete solution process

e identification of some of the important elements of the problem

e some understanding of the relationships between important elements of the problem
e simple conclusions with little supporting evidence

Problem-solving process to predict the frequency of selecting a card with a vowel in 500 selections
shows considerable effectiveness due to

e asolution process that is nearly complete

e identification of most of the important elements of the problem

e aconsiderable understanding of the relationships between important elements of the problem
e  appropriate conclusions with supporting evidence

Problem-solving process to predict the frequency of selecting a card with a vowel in 500 selections
shows a high degree of effectiveness due to

e a complete solution process
identification of all important elements of the problem
a thorough understanding of the relationships between all of the important elements of the problem
appropriate conclusions with thorough and insightful supporting evidence
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Question 27

Code
10

Farzad puts the following 10 cards into a bag.

Als|s/E]s|s|mE[N]T]

Farzad randomly selects one card, records the result and puts the card back into the bag. If he does
this 500 times, how many times is it likely that he will select a card with a vowel (A, E, I, O, U)?

| Justify your answer. me.?_ﬂi slald drow o ppe| 1bbe 566...

beowse oo 166.445...

Annotation:
Student demonstrates minimal evidence of a solution process; inappropriately attempts to deal
with 500 selections and the likelihood of choosing a vowel by dividing 500 by 3.
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Question 27

Code
20

Farzad puts the following 10 cards into a bag.

Als/S/E[s|sMEIN|T

Farzad randomly selects one card, records the result and puts the card back into the bag. If he does
this 500 times, how many times is it likely that he will select a card with a vowel (A, E, I, O, U)?

Justify your answer. 34 iy % 'H")G-'-" I.}e_ NW“-‘ j:k:rﬁ .‘pmif'

onk o volel

2 vouels ot of len letéers
wmdxwﬂﬁ NOWE

{
ASSESSMENT =

Annotation:
Student demonstrates an incomplete solution process; determines the chance of selecting a
vowel; does not deal with the number of times out of 500.



Scoring Guide for Junior Mathematics Open-Response

Question 27

Code
30

Farzad puts the following 10 cards into a bag.

A s|s|[E|ls||s|MIE|N]T]

Farzad randomly selects one card, records the result and puts the card back into the bag. If he does
this 500 times, how many times is it likely that he will select a card with a vowel (A, E, I, O, U)?

Justify your answer.

\Qraras A are wowels

f% Tﬁ% 50 he ol likel, oiek
=00 |00 Lf

A CcArA Fhar IS oL Uouel
(OD +ime Oownsr of DS

Annotation:

Student demonstrates a considerable understanding of the relationships between important
elements of the problem; determines the number of times it is likely for each card to be chosen
(50) and multiplies by 2 (either misses second E or does not count the 2 E’s as 2 vowels).
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Question 27

Code
40

Farzad puts the following 10 cards into a bag.

s/ )]s mg]n]T

Farzad randomly selects one card, records the result and puts the card back into the bag. If he does
this 500 times, how many times is it likely that he will select a card with a vowel (A, E, [, O, U)?

Justify your answer, =€) 0. — 0

:yﬁj‘ &‘i—ﬁ% _ 3@ 0 _%%6_ |
Cooave gossbility "5F gethng o
voyel 18 450 Haes

Annotation:
Student demonstrates a complete solution process; determines the chance of selecting a vowel

and uses equivalent fractions to determine the number of times Farzad is likely to select a
vowel.
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Question 28

Descriptor
Blank: nothing written or drawn in response to the question

lllegible: cannot be read; completely crossed out/erased; not written in English

Irrelevant content: does not attempt assigned question (e.g., comment on the task, drawings, “?”,
“I"“l don’t know”)

Off topic: no relationship of written work to the question

Problem-solving process to determine the company offering the lowest rate shows limited effectiveness
due to

e minimal evidence of a solution process

e limited identification of important elements of the problem

e too much emphasis on unimportant elements of the problem
e no conclusions presented

e conclusion presented without supporting evidence

Problem-solving process to determine the company offering the lowest rate shows some effectiveness
due to

e anincomplete solution process

e identification of some of the important elements of the problem

e some understanding of the relationships between important elements of the problem
e simple conclusions with little supporting evidence

Problem-solving process to determine the company offering the lowest rate shows considerable
effectiveness due to

a solution process that is nearly complete

identification of most of the important elements of the problem

a considerable understanding of the relationships between important elements of the problem
appropriate conclusions with supporting evidence

Problem-solving process to determine the company offering the lowest rate shows a high degree of
effectiveness due to

e a complete solution process
identification of all important elements of the problem
a thorough understanding of the relationships between all of the important elements of the problem
appropriate conclusions with thorough and insightful supporting evidence
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Question 28

Code
10

The rates for Internet use offered by three companies are shown below.
* Company A: 56.00 for every 90 minutes of use
» Company B: $2.75 for every 45 minutes of use
* Company C: $3.00 for every 60 minutes of use

‘Which company offers the lowest rate per minute?

Show

our work.
JQ%% per UB min.s of use.
¥ 300 per 6OMINS ot use

6.0y 9@{“ Qo MM S of use

J 275 ishae \owsest Rate,

Company B offers the lowest rate per minute.

Annotation:
Student demonstrates minimal evidence of a solution process; repeats elements of the

guestion without solving the problem; chooses Company B with no supporting evidence.
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Question 28

Code
20

The rates for Internet use offered by three companies are shown below.

= Company A: $6.00 for every 90 minutes of use
= Company B: §2.75 for every 45 minutes of use
» Company C: $3.00 for every 60 minutes of use

Which company offers the lowest rate per minute?

2] "
~ Show your work. @h%m‘h-}k,ft:l ﬁdt? 2 T @C&m.\;:\mﬂ 3 ak \5{
Tnte [ NG5 %35 16 Per mmin Comn.}= Meong lowrst Ak
cornp ol 0470 i | QLY T A0 T L0 per min Com.( = Wagy @y o¥ 10"
- torm. 2 298 € 3

~ ™ L Eh00 [y !

@ Comi:aﬂj A 05%"5 Yre lowesk e

er m,
'(h‘__, TN bﬂcf’ubﬁ Woa bn\'q_ ‘|=Ia5lt L‘JQF\‘*'"E
¥ig o}
hee, v puoer.

Company E offers the lowest rate per minute.

Annotation:

Student demonstrates some understanding of the relationships between important elements of

the problem; sets up and calculates minutes per dollar but calls them cents per minute and
chooses the least instead of the greatest.
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Question 28

Code
30

The rates for Internet use offered by three companies are shown below.

* Company A: $6.00 for every 90 minutes of use
= Company B: $2.75 for every 45 minutes of use
»Company C: $3.00 for every 60 minutes of use
Which company offers the lowest rate per minute?

Show your work.

Company E offers the lowest rate per minute.

Annotation:

Student demonstrates considerable understanding of the relationships between important
elements of the problem; calculates and compares the cost for 180 minutes at each company
but multiplies by 3 instead of 4 for Company B; conclusion matches calculations.
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Question 28

Code
40

The rates for Internet use offered by three companies are shown below,
* Company A: $6.00 for every 90 minutes of use

» Company B: $2.75 for every 45 minutes of use

* Company C: $3.00 for every 60 minutes of use

Which company offers the lowest rate per minute?
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Company C offers the lowest rate per minute.

Annotation:

Student demonstrates a thorough understanding of the relationships between all of the
important elements of the problem; calculates the rates per minute for each company and uses
the rates to make the correct conclusion (Company C).



Scoring Guide for Junior Mathematics Open-Response
Question 29

Descriptor

Blank: nothing written or drawn in response to the question

lllegible: cannot be read; completely crossed out/erased; not written in English

Irrelevant content: does not attempt assigned question (e.g., comment on the task, drawings, “?”,
“I"“l don’t know”)

Off topic: no relationship of written work to the question

Problem-solving process to analyse a drawing by describing three different transformations shows
limited effectiveness due to

e minimal evidence of a solution process

e limited identification of important elements of the problem

e too much emphasis on unimportant elements of the problem
e no conclusions presented

e conclusion presented without supporting evidence

Problem-solving process to analyse a drawing by describing three different transformations shows some
effectiveness due to

e anincomplete solution process

e identification of some of the important elements of the problem

e some understanding of the relationships between important elements of the problem
e simple conclusions with little supporting evidence

Problem-solving process to analyse a drawing by describing three different transformations shows
considerable effectiveness due to

e asolution process that is nearly complete

e identification of most of the important elements of the problem

e aconsiderable understanding of the relationships between important elements of the problem
e  appropriate conclusions with supporting evidence

Problem-solving process to analyse a drawing by describing three different transformations shows a high
degree of effectiveness due to

e a complete solution process
identification of all important elements of the problem
a thorough understanding of the relationships between all of the important elements of the problem
appropriate conclusions with thorough and insightful supporting evidence
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Question 29

Code
10

The diagram below shows a square that was moved by a transformation from position A to position B.

1/
o

Describe three different ways to move the square from position A to position B. Each way should use
a different type of transformation. Remember to include the mirror lines or the centre of rotation on
the grid.

Complete the following chart.

Type of Transformation | Description
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Annotation:
Student demonstrates a limited identification of important elements of the problem; names 2

different transformations, with inaccurate descriptions.
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Question 29

Code
20

The diagram below shows a square that was moved by a transformation from position A to position B.

AN

Describe three different ways to move the square from position A to position B. Each way should use
a different type of transformation. Remember to include the mirror lines or the centre of rotation on
the grid.

Complete the following chart.

Type of Transformation Dasarip

5ﬁﬁafﬁ-,A’ cordd  heve
F\tmﬂ::—:ﬂﬁ been fEF{fc_.l:{(_l/ to 13

Tonglbion | 2 4y & Coht™

RD’fmﬁan .P’{;‘f Ug \ have ir?fzcr] (oiated
Jiny
‘ SE—

Annotation:

Student demonstrates some understanding of the relationships between the important
elements of the problem; names 3 different transformations with mirror line identified and
correct centre of rotation. Note: the number of units up are incorrect for translation and missing
the size of the rotation.
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Question 29

Code
30

The diagram below shows a square that was moved by a transformation from position A to position B.

|

Describe three different ways to move the square from position A to position B, Each way should use
a different type of transformation. Remember to include the mirror lines or the centre of rotation on
the grid.

Complete the following chart.

Type of Transformation 4| Description
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Annotation:

Student demonstrates considerable understanding of the relationships between the important
elements of the problem; names 3 different transformations with units for the translation

(“transition”) and mirror line for the reflection and centre of rotation for the rotation. Note:
incorrect size of the turn.
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Question 29

Code
40

The diagram below shows a square that was moved by a transformation from position A to position B.

Describe three different ways to move the square from position A to position B. Each way shquld use
a different type of transformation. Remember to include the mirror lines or the centre of rotation on

the grid.
Complete the following chart.

Type of Transformation Description
" The vrotataon & 210° around a povt vV A
- Clockunse direction .
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Annotation:

Student demonstrates a complete solution process; describes three different transformations
that move the square and provides centre of rotation, direction and size of turn and mirror line
(line yx) and units for the translation.
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